€ EN 60974-7

WITH HIGH FREQUENCY

S

2 3 4

&<

AAAA

1/4G

3/8G

M14X1 12

M16X1.5

|_11

chnical Data RS

Current EEHR

Duty Cycle H#i%

Gas Sk

Gas Pressure 5E

Gas Flow Sitii

Ignition 3[3M A=

Post Flow S3ERT
Standard Length ¥R

80Amp
60%

AR =5

4.5-5.0

220LPM

HF &57

80sec. recommended 3807

5M

|—13

Central adaptor

TR AE L

Bar

€ EN60974.7

HAND TORCH

[ Code | Ref | Description ___________________________________

1VT0647
IVT0646
1VT0985
IVT0981
1IVT0982
IVT8100
IVT8101
1IVT8102
1VT8103

Plasma Cutting Torch/P80/10mmq/5m CENTER ADAPTOR; % & F ] #]4£/P80/10mmq/5m SR i 3k
Plasma Cutting Torch/P80/10mmq/5m 3/8G; % & F 1 #/48/P80/10mmaq/5m 3/8G

Plasma Cutting Torch/P80/10mmaq/5m M16x1.5; % & 7 ) #1#/P80/10mmq/5m M16x1.5

Plasma Cutting Torch/P80/10mmaq/5m 1/4G; % & F ¥ #/4¢/P80/10mmaq/5m 1/4G

Plasma Cutting Torch/P80/10mmg/5m M14x1.5; % & F ] #46/P80/10mma/5m M14x1.5

Plasma Cutting Torch/P80/16mmaq/5m M16x1.5; % & F ] £/4¢/P80/16mmaq/5m M16x1.5

Plasma Cutting Torch/P80/16mmgq/5m M14x1.5; % & F 1 #/4¢/P80/16mmq/5m M14x1.5

Plasma Cutting Torch/P80/14mmgq/5m M16x1.5; % & F ] /4¢/P80/14mmq/5m M16x1.5

Plasma Cutting Torch/P80/12mmq/5m M16x1.5; % & F ] £46/P80/12mmg/5m M16x1.5

m—

10.10
10.11
10.12
11
12
13

1SM0709
1IVS0013

IVU0039-10
IVU0039-13
1IVU0039-15
1IVB0020
1VZ0093
IGV0035
IHJ0722
IHQO070
IHJ0893

IVN00810050-00
IVN00810051-00
IVN00810052-00
IVN00810053-00
1VN00810054-00
1VN00810055-00
1VN10810050-00
IVN10810051-00
IVN10810052-00
IVN10810053-00
IVN10810054-00
IVN10810055-00

1CG6009
1ZX0078

TGNO02004

TETO01110

TET01130
TET01512
TET02033
TKU08103

Isolated Wheel/P80;5% B3 3£ /P80

Ceramic Outside Nozzle/P80;k % SMiE B/ P8O

Tip; i

Tip ® 1.0mm P80; & & 5t ® 1.0mm/P80

Tip ® 1.3mm P80; B4R I5E M & 1.3mm/P80

Tip ® 1.5mm P8O; f R Mtk ® 1.5mm/P80

Electorde/P80;H #k/P80

Plasma Torch Head P80/light; % & F 16 k/P80/5Z &

Plasma Handle Manuale/ASeires/Red;% & F F T FH/IAR /L &
Protection part/Plasma/Yellow; 7 % #7414 /& B F /& &

Trigger; 7 %

Joint/small/new type;Ek 5 & /M3 R

Cable Assembly; B 4540

CABLE ASSEMBELY/P80/10MMQ/5M CENTER ADAPTOR;E #548/P80/10MMQ/5M mh Sifisk
CABLE ASSEMBELY/P80/10MMQ/5M ATT.1/4G; B 4543/P80/10MMQ/5M ATT.1/4G
CABLE ASSEMBELY/P80/10MMQ/5M ATT.3/8G; L 4i48/P80/10MMQ/5M ATT.3/8G
CABLE ASSEMBELY/P80/10MMQ/5M M14*1; 68 4548/P80/10MMQ/5M M14*1

CABLE ASSEMBELY/P80/10MMQ/5M M14*1,5; 8 #48/P80/L0MMQ/SM M14*1,5
CABLE ASSEMBELY/P80/10MMQ/5M M16*1,5;F 4548/P80/10MMQ/5M M16*1,5
CABLE ASSEMBELY/PP80/10MMQ/5M CENTER ADAPTOR; B 4548/PP80/10MMQ/SM Hisifisk
CABLE ASSEMBELY/PP80/10MMQ/5M ATT.1/4G; B 4548/PP80/10MMQ/5M ATT.1/4G
CABLE ASSEMBELY/PP80/10MMQ/5M ATT.3/8G; F#548/PPB0/1OMMQ/5M ATT.3/8G
CABLE ASSEMBELY/PP80/10MMQ/5M M14*1,5; EL4543/PP80/10MMQ/5M M14*1,5
CABLE ASSEMBELY/PP80/L0MMQ/5M M14*1,5; FL#48/PP80/10MMQ/5M M14*1,5
CABLE ASSEMBELY/PP80/10MMQ/5M M16*1,5; FL4548/PP80/10MMQ/5M M16+1,5
Connecting adaptor; #iiEsk

SPANNER FOR P80; P8Ot FIiRF

CENTRE ADAPTOR TORCHSIDE PLASMA 5 PINS; % #F R sk/5t



